
200 EXC - GS 2002 <2002><EU><722520>
WIRING HARNESS

238

Pos Part Number Description Additional Text Quantity

0 44011076305 CABLE TIE 300/4,8MM BLACK 1.00

0 57013072100 WIRING HOLDER 16MM 0.00

0 57013072200 FRAME ASSY 1.00

2 50311075600 WIRING HARNESS 125-380EXC 2000 1.00

4 50311076000 WIRING HARNESS REAR 125-380'98 1.00

5 44011076200 Cable tie 200/4.6mm black 0.00

7 44611207200 FLASHER UNIT 97 1.00

8 58211031100 BRACKET FOR FLASHER RELAY 2.00

9 49111425000 BULB 12V 1,2W (W2X4,6D) 3.00

10 50311070000 H.LIGHT SWITCH CEV 2/4TAKT '98 400/520 EXC
EU,SYMBOLE WEISS

1.00

11 50311050000 BRAKE LIGHT SWITCH FRONT 2000 1.00



12* 50311060000 DC HORN 12V K80/L LEB 1.00

13 50311034000 VOLTAGE REGULA. 12V 125-200'98 125-200 EXC-EU 1.00

14 0014060103 HH COLLAR SCREW M 6X10 WS=8 1.00

15 59011061000 BRACKET 2001 1.00

16 0014060153 HH COLLAR SCREW M 6X15 WS=8 1.00

17* 51111008000 BATTERY 12V 3AH YUASA 1.00

18* 59011055000 BATTERY CARRIER PLASTIC BLACK 1.00

19* 0017060203 EJOT PT SCREW K60X20 WS=6 MXC, EXC 3.00

20* 51211075033 WIRING HAR. EXC 200 SINGAPORE 1.00

21 57013072000 WIRING HOLDER 12MM 0.00

22 54611090000 RETAINING PLATE FOR BATTERY'97 2.00

23* 51011050000 FRONT BRAKE LIGHT SWITCH 1.00

24* 51211081000 FLASH.WIRINGHARN.REAR EXE 2000 1.00

25* 58011109110 Plug-in fuse, big 10A 1.00

26* 50303025000 RUBBER FOR SIDE STAND '98 2.00

29 50311029000 FLASHER SWITCH CEV '98 1.00

30 13011070060 ADAPTER FOR FLASHER SWITCH '98 1.00

31 0985040163 FLAT HEAD SCREW DIN7985-M 4X16 2.00

32 0084040223 CYL.HEAD SCREW DIN0084-M 4X22A 2.00

33 0934040003 HEXAGON NUT DIN0934-M 4 2.00

34 58111076000 CABLE SUPPORT KHS NR.150-47610 1.00

35 50311035000 CONDENSATOR 2200MF ADP-48 2000 250/300/380 EXC EU, AUS 1.00

36 0015060123 HH COLLAR SCREW M 6X12 WS=8 1.00

51 50311051100 BRAKE LIGHT SWITCH REAR '98 EXC EU+AUS 1.00

80 50311080100 FLAS.WIRINGHARN. FRONT 125-380 1.00

81 50311081000 FLAS.WIRINGHARN. REAR 125-380 1.00

82 50031003000 RETAINING PLATE 2.00

83* 50311025030 SHRINK HOSE 6,4/3,2 L=30 MM 2.00
* = New part


